K/K*

Ratio to LHCB

2.2

1.8

1.6

1.4

1.2

0.8

0.6

0.4

0.5

7OOQ va pp

Soft QC

=N AL L N N I B B B B B =
- K/K" vs |y|(0.8 < p. <1.2GeV) 7
— m  LHCB —
— --i3-- Herwig 7.2.0 default —
¢ Sherpa 2.2.8 default ]
- i ___________________________________ R T T -
- = : T ’ ]
- R = (AR M N
: — R §
— . —
e e
- r UTTTTP TP PP T PR O PR TUUUUP PO PP PPN PP PP ELLD ‘ ................................... N
- oo M focoooooooooooo- b .
— _t-j_ —
I T T R I T T R I T T R I T T R |

Rivet 3.1.0, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


